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Geometry

Unit 5 Quiz 1 Review
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Write the slope-intercept form of the equation of the line described.

1)  through: (-3, -4),  parallel to y = 
8

3
x

2)  through: (2, -5),  parallel to x = 0

3)  through: (2, 0),  perp. to y = -
6

5
x + 2

4)  through: (4, 1),  perp. to x = 0

Find the midpoint of each line segment.
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Find the other endpoint of the line segment with the given endpoint and midpoint.

7)  Endpoint: (6, -7),  midpoint: (-9, 6) 8)  Endpoint: (-1, 3),  midpoint: (7, 4)

Use the information provided to find the coordinate of point P.

9)  Find the point P that partitions AB into a
ratio 2:1 with A(-3, 4) and B(8, 1)

10)  Find the point P that partitions BA so that

P is 
1

5
 away from B with A(-5, 0) and  

B(2, -3)


